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18 bl s Sv (")
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ImCK)=10dm (43K) =100cm (JEkK) =1000mm (ZK) =1X10°um (F§K) =1X10°nm (1K)
Ikm[F2K (AH) 1=1000m CK)

Im CK) =3 (i) =3.281 ft (FEJ)

1 nmile GGEH) =1852 m CK)

1 mile (FEH) =1.6093 km (T2K (AH) ) =1760 yd (fth)

1 inch (FE~})=25. 4 mm(ZXK)

1 ft (PR =12 inch (FE~]) =0. 3048 m(CK)

HR

Im? CEJ72K) =1 X 10%em? CEJ7EK) ==1X10mm* CPFJ52K) =1X10%nw® CEAHeK)
Im* CEJ52K) = 10. 76£t* CF )5 3 L)

Lkn? [P T2 CEAR) ) =1X10%* CFEJ52K) =100ha. (24 5)

1 ha. (AM)=100are. (/AR =15 (THE) =10000m* CFJ7K)

sqr. inch CFAE) =6. 452cm? CFJ7 2K

acre (HH) =6.07 (T HE)=0. 4047ha. (L)

(T =667m* CFJ7K)

mile® CPJoEH) =2, 59km* [ T2k CPJT A M) 1=640ares (9w ) =25%a. (A L)

B (BEBD

Im* (37.772K) =1000dm* [ 37,7543k (L) 1= 1X10°%em®[ 3707 H K (ZTF) 1=1 X 10°mn® (3775 %K)
1 L (P =1 dn’ (3275 43K) =1000mL. (ZF)

Im* (37 J5K) = 35. 31£t° (3L 7 P )

EE

lkg[ T3 (AJT) 1=1000g (78)= 1X10°mg=1X10"u g (Fh7)
lkg[ T3 (A 1=2 (i) =2.205 1b (1)

1 t() =1000kg[T-7% (A ) 1=2000 (il fr)

B 1)

1 s () =1000ms (ZFP)= 1X10°0'S (J4FP) =1X10°ns (ZFH)
1 d CR) =24h (1)

1 h(H)=60 min (588 =3600 s (Fb)

9% B

1 t/m* (/375K =1 g/em® (i /SEJ7JHK) =62, 4 1b/£t3 (/37 5 95 )
BE

AN (K) =+273. 15

FRQIRE CC) =[#ERIREE ¢ F) =321 X5/9

RIS CF) = KiRE (°C) X1.8+32

By

L kg em(A)7 +2K)=9.8 J (FEH) =7.233 ft«1b (FL] « %)
1 kWeh (FR/NE) =3.6X10° J (FEH)

1 cal (‘F) = 4.1816 J (££H)
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Ju. &
1 (AHIEJ)) =T5kg *m/s (AJT « K/F) =0. 736kw (T FL)
1 (il J)) =550 £t « 1b/s (FEJL « f5/ #0)=0. 746kw (T F0)
1 kW CTE) =102kg * m/s ()T  K/F

+. Eh
1 atm CKUE) =1. 013X 10°Pa(ff)= 1. 013X 10%kPa (T
+—. HERS
10'=+ (deca—da) 10=9H (hecto-h)
10°=TF (kilo—k) 10°=JK (mega—m)
10=F (giga—g) 10"=K4$7 (tera—t)
107'=4%) (deci-d) 10%=H (centi-c)
10°%=% (milli—m) 10°%=f% (micro—u)



